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Question 1- A sum of money is mnvested on simple interest at 1.5% p.a
for 8 years yields interest Rs.6000. What will be the simple interest on

the same sum at 4% for 8 years

T 1 - Teh SFTTTST Shl FTEOT SATST UX 1.5% ey shl ST H § 91 o [T
fraeT Rt ST 2 o7 S8 9 6000 93 SATST 974 BrdT 21 I&T TRT I 49 i <X

o 8 9T oh ToTT "rerur ATt fohaem i

Rs 16,000
Rs 12,000
Rs 22.000
Rs 14,000

None of these
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Question 2- The average of 5 term 1s 60. If the first 4 terms are 48, 40,

80 and 45 what will be the last term?

T 2- 5 YT T 3T 60 Bl IS T8 4 U< 48, 40, 80 3T 45 &, a7 Afaq ue

T BATT?
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57
67
87
77

None of these
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Question 3- The ratio between the present age of two friends Tom and
Mac 1s 5 : 6. After 8 years the ratio of their ages will be 7 : 8. Find the

sum of Tom and Mac ages after 20 years

T 3- 1 ol ST ST Heh hY SdaT 311 shl STUTT 5 : 6 21 8 Y oI1Q Ieh1
SR T AT 7: 8 BITT 20 Y 1S H ST Heh ohl ST 3hT AT T i 51

124
84
114
74

None of these
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Question 4- An article was purchased for Rs.280935. Its price was marked
up by 30%. It was sold at a discount of 20% on the marked up price. What
was the profit percentage on the cost price?

T 4- Teh ] 28093 5 ¥ H Tilial 7| gHehT hiHd H 30% ol g &1 3h 715 o)
58 Jifehd Hed W 20% shi D TSI AT AT, 553 Hed UL A1 SRIel T T2

3%
4%
6%
4%

None of these
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Quantity I: A certain invested for 2 years at the rate of 12% simple interest. If the
simple Interest 1s Rs.3600.Find the Principal.

Quantity II: Rs. 1600

HTAT I SIS SATh 12 % AT TS 3l G H 2 N1 o ToTT elST T 7| AT ATemoT
ST 3600 ¥9 &, AT HeAEH T shiTS1g) /AT 11: %, 1600

Q1>Q2
Q1<Q2

Q1<Q2
Q1=>Q2

None of these
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Quantity I: An article was sold at Rs. 420. If the profit earned by selling the article
1s 20%. Find the Cost price.
Quantity II: Rs. 350

HTAT 1: Tk & 3T 420 TR H =l T 91| AlQ S Rl sle | 3T1Sid AT 20% 281 56

e T hITSTY) | 11: 8. 350

Q1>Q2
Q1<Q2

QI<Q2
Q1=>Q2

None of these
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Quantity I: A coin 1s tossed 3 times. What 1s the probability of getting a tail each
time ?

Quantity II: 1/18

HT 1 e THerehT 3 ST SSTeTT ST 2] Tedoh ST Y THei ol STiRiehd o &7

AETI: 1/18

Q1>Q2
Q1<Q2

Q1<Q2
Q1=>Q2

None of these
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Quantity 1- The income of A and B are in the ratio 4 : 3 and their expenditures
are 1n the ratio 2 : 1. If each saves Rs. 400, then what will the sum of their
Incomes

Quantity 2- Rs 800

AT 1- A 3B hT 37T T 3TTUTA 4 : 3 € 3 3ok o4 31 UG 2 : 1 81 Al Tedoh

400 T FATATR, T ITehT AT hT JNT =T BT
ATAT 2- 800 T

Q1>Q2
Q1<Q2

QI1<Q2
Q1=>Q2

None of these
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mark

T 9- S5 11 oh ST U STATI HI AT ST

1028.01 = 20% of 5000.001 + 7% of 199.99/?
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Question 10- What approximate value will come in place of question
mark

T 10- T g o TIM W STTHTI AT T ST
257.01+ 18.01X?2=(49.99% +390.01

146
126
166
186
226

MmO 0w
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Question 11- What approximate value will come in place of question

mark
T 11- 99 g o T W 31-\-|31-|II(-\-|<'| HTT SR SATQT

299 4
5 X \/511.99 + 123.89% 0f 650.01 =7

800
700
600
400
850
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Question 12- What approximate value will come in place of question
mark

T 12- T T8 o TATT 0 STATI HI AT ST

23.992 x 13.995-7.995 x5.96="

188
388
244
288
128
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Question 13- The diameter of the circle 1s four times the length of the
rectangle. The ratio between their areas 1s 11 : 7respectively. Then what will
be the ratio between the length and breadth of the rectangle.

ST 13- 31 SRl SATH ST hl SIS 3hT AT IHT &) 34k &A1 o o<l T SATITd
SHHRT: 11: 7 81 A1 ST 3h TelTs ST SIS oh STl T AT T ST

1:4
3:4
l1:8
2:3

None of these
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Question 14- In a mixture the ratio of milk to wateri1s 4 : 1. If 60 litre of

water 1s added then new ratio becomes 14 :11. Calculate the initial mixture?

S 14- e TH2ror 8 g8 BT Ot § ST 4 ¢ 1 21 A 60 e art e St &
1 T ST 14:11 BT ST 81 THT37h f2ior <7 701 shi?

40 L
30 L
140 L
200 L

None of these
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Question 15- There 1s a 40% increase 1in an amount in 8 years at certain rate
of simple interest. What will be the compound interest of Rs. 30,000 for 2

years at the same rate?
T4 15- TTLROT SATST <ht Ueh FAT3rd U or 8 9T 0 Uk T H 409% 1 Ifg Breft 2
THT G 2 91 oh TTW 30,000 9 T <shall<g, SATST T BT

Rs 4475
Rs 4075
Rs 3075
Rs 5475

None of these
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